


for(), while() 215}7] 1

# for()
n = int(input("&¥2| H=

for i in range(1, n, 2) :
print(i)
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while()

while i < n :
print(i)
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/# for() \ /# while() \
for letter in "Mango” : | =
print(letter) fr = "Mango”
while i < len(fr) :
letter = frli]
print(letter)




AS = 1

- 10{|A] 50 AtO[Q 72| B =2} 1 29| M| & 2= =
olA |2

« for, range, in AR S}



AS5EAM 1, 3AE

4

\
# 10 A 50 AtO|Q] 79| His=, O O M&F 2t =8 | |
========= RESTART: E:/1_W
for i in range(1, 50, 1) : ode/test.py =========
if 1%7 == 0 : /
print(i) ﬁ
print(i**2) 196
\_ J |21
™ 441
# 101 50 AfO|2] 79| B4, 1 0l HIS 3t B | |77,
# if AFESHX| 210 Jts 35
1225
for i in range(7, 50, 7) : 42
print(i) 1564
print(i**2) 2401
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=== | jst{range(10)]
[0, 1, 2, 3, 4, 5, 6,
=>> |ist(range(4,20)]
(4, &5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19]
»»> |ist(range(1,20,3))

[1, 4, 7, 10, 13, 16, 19]

=== | jst{range(100, 20, -5))

[100, 95, 90, 8%, &0, 7o, 70, 65, 60, bh, 50, 45, 40, 35, 30
=»> |ist{range(1,15,2))

(1, 3, 5, 7, 9, 11, 13]
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=== for | in range(10):
print(i)
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S B2 form= H11, R H Aallg| =X]
for() TP

foriinrange(1, 11)..
foriin range(10)..
foriinrange(10, O, -1)..
foriinrange(-10, 11)..

foriinrange(10, 0)..

foriinrange(-10, 11, 3)..




HeH 2, Tet

4

for() Hd 2l

foriinrange(1, 11).. 1081 (1, 2,3,4,5,6, 7,8, 9, 10]

for i in range(10).. 10,10, 1,2,3,4,5,6, 7,8, 9]

foriinrange(10, O, -1).. 10%1 [10,9,8,7,6,5, 4, 3, 2, 1]

foriin range(-10, 11).. 21H, [-10,-9, -8, -7, -6, -5, -4, -3,
-2,-1,0,1,2,3,4,5,6,7,8,9, 10]

foriin range(10, 0).. 0, []

foriinrange(-10, 11, 3).. 7%, [-10,-7,-4, -1, 2, 5, 8]




fore 28 1

/% B2 Az

name = "HORSTMANN"
count = 0

for char in name :
print(char)
count = count + 1

print("= At = “, count)
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forme & 2
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——=—=—=—=—=== RESTART:
fruit = ["apple”, "banana”, "lemon", "tomato"] ;;ae
count = 0 bhanana

| emaon

fomato

for fr in fruit : OFO|E| == = 4

print(fr) =S |
count = count + 1

print("OtO| & 4= =", count)




fore 28 3

/# 2l AE Nz N\

fruit = ["apple", "banana", "lemon", "tomato"]

for fr in fruit :
count = 0
for fin fr:
print(f)
count = count + 1

print("OFO| &l &= = " count)
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| = O | = O
for i in range(1, 11) : for i in range(10, O, -1) :
prlnt(l*l * |) print(l*l * |)
N e
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name = "“Peter Rabbit”

count = 0 d|I e
—======== RESTART:
for char in name : | ====
print(char) P
if char!="": HE
count = count +1 é
-

print( 'S =At == = ', count)
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